2o PPAIHET ABCD oA /B, /D 9] o]5EAo] AD, BC %}
= He 424 E, Feb @ o, oEBFD 7 HPARF A S5
Fgolek. (7h) ~(mh ol ST Ao g7 4L AL?

A E D

[¢]
)

B § C

[7}7@] DABCD & B34
/AB (7} | .EDF = AFDC
[75%] OEBFD = ¥ oﬂA}

3]

/B = olm g zBffD
%, /ABE =

/AEB = (E}) (%74) (2h |=CFD (31ZholB=
/AEB = /CFD

/DEB = /180° - ZAEB=| (°h) |---©
@, ©°] 2J5to] pEBFD &= HPAHAG o]},

5

@® (7}) : tEBF @ (W) : D ® (th): /ABE

@ (2 : (EDF ® (9h) : /DFB



2 HPAIH Y ABCD 9 Yol= 160 cm?
°o]7 BCO ZHEP,AQ : QP=3:2¢
o, oQPCO 2] Wol=?

@ 22cm? @ 24cm? ® 26 cm?

@ 28 cm? ® 30cm?



-2 9o H G7F AABC o] #ASAHY o, BG CD =
202 5= 5 ¥ 0,0% 90 9 Ed7F 4ecm € wf, & O’ 9
EdE vtz 139k A8

>~I

A

@D 6 ® 6.2 B3 6.4 @ 6.6 B 6.8



